EARAROBEEIERT — 2 N— IBISH —F 2019558218 (K) 1EIEERI6H

m C2 ¥5%—M ESRE R
[AE4£] 17 :200,000" ~ 23#%&:52,000”  33&:28,000” 437 :20,000MH .~ 57 :10,000
WmEHR MK ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S 44| ARIBE 1:00.7 1-1 37.2| — 3 434 | RIIRE (KR)
AR TR 56.0 =) () | BEN
Rig—4—U—Y B:AE—RT1H¥— AE—KTT—L4
IS it 4 | BAK 1:00.9 5-5 36.7| — 5 448 | EE (KR)
NIV T #53.0 (' 1/2) (o) |EXAES
LI >75yva B:O-—¥I71F—-L biEie ]
s B4 | AVRE 1:01.0 3-2 37.2| — 6 447 | WRIEZFRI (KIR)
TRAT 54.0 (1/2) Lo | (F) =EE
34 21T A -G r—K—F B:VrM3I— FE {51
C e = BAREA : — — 1EEREZ (KR)
K=ty 51 9 S 1.(011).2 5-6 36.9 4 :_614) femE 0o
f:Bernstein B:¥T kA TV T H—L— - TS - T7— LERE
N (e s 6 | wOB— 1:01.4 4-4 37.3] — 2 441 | HEE GKR)
AR 54.0 (1 (13 | HEEE
RN HATANER BAX S Fo—L T KT —L
i 5 | BEAEZ 1:02.1 2-3 8.5 — 1 461 | BEILES] (BERE)
Vag—w 54.0 @) +10) EIlI&A
RixvyyULgTyk BiAHLTI—IL BEZZY K
@ I —JF—@&BlIEfr
13—7-—
23=5"=
Ja=7= 2,3,4,6,(1,5)
43—+ — 2,4,3,6,1,5
[ N5
B 2 780M 714K 1-2 780M B E 1-2 3,180M JEE 1-2-4 4,760
B B 2 340H 2-4 1,220H B H 2-1 4,920M 3B 2-1-4 23,0504
1 560M 1-4 1,130H
ABICOVWTRHDTERERRODLDE, THERLE,




